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daily
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Varibles definition

Example: Run 17400

Cuts:
sqrt(pow(sc_xmean-2304/2,2) + pow(sc_ymean-2304/2,2)) <900

Occupancy of the cluster taken in exam
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Varibles definition e
sc_width/sc_length > 0.8
scC_rms >6
sc_integral > 500
Cuts: sc_tgausssigma > 0.3
sqrt(pow(sc_xmean-2304/2,2) + pow(sc_ymean-2304/2,2)) <900
The ssFe peak s fitted with the Cruijff function and

the mean of the function defines the ssFe peak
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For each run the >>Fe peak has
been evaluated,

Bunch of run has been taken and
the average has been evaluated



Varibles definition

Cuts:

sqrt(pow(sc_xmean-2304/2,2) + pow(sc_ymean-2304/2,2)) <900 LY_30 = Meanin the range [30k ; 300k] of

the sc_integral distribution

140

count

120

100

80

60

40

20

1 i 1 1 1 1 L1 1 ] w1 03
booul boboal ol 1 03 250 300
250 300 sc_integral

sc_integral

DMII|III|III|III|III|III|

1 1 1 1 1 |
150

'y 1 1 |
200




Why are we defining the LY 307?
To equilize the energy
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55Fe_peak
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All the run with the
>Fe peak are taken and >>Fe peak vs
LY is plottedand a

linear fit is performed

The parameters are used to evaluate
the ssFe peak from the LY ->

in order to "calculate" thessFe peak
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For each run the >>Fe peak has
been calculated,

Bunch of run has been taken and
the average has been evaluated



Comparison between >>Fe calculated and >>Fe measured

55Fe calculated

A . >>Fe measured
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--> Optimise and validate the >>Fe calculate ;L

variable:
Dividingthe three different region
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55Fe_peak

The same procedure has been applied for the Runl and Run2
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Map Correction

hman
2400 Entries 14400
2200 : Mean x 1139 lo
Mean y 1184
2000 StdDevx 577.9

1800 ‘ ‘ StdDevy 585.5 o
1600
1400 00!
1200
=
400 00!
200 ,
O e T T ey T Ty PR T e vl

0 200 400 600 800 10001200f40016001 8020002202400
y

The map has been build summing many
runs with the >>Fe source placed at the

position17.5
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Run_40505

sc integral corr
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Applyingthe map correctio, the resolution improves
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Next step

- Validate the LY 30 variables --> in order to equilize all the run at the
same energy

- Validate the map correction
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